Blurbs for Cart Lab

1.) Velocity of cart at t = 0.5 sec.:

a.) using velocity vs time graph

b.) using position vs time graph

c.) determine V  using v,=v, + a( Ar) and graphs

d.) determine v 5 using v 22 =V, 24 2aAx and graphs
2.) Distance traveled between t = 0.25 and t = 0.60 seconds.:

a.) using position vs time graph

b.) using velocity vs time graph

c.) using X,=x,+v I+ .5at? and data from graphs

3.) determine % deviation for largest value discrepancy using information from:

a.) Question 1 (determining final velocity)

b.) Question 2 (distance traveled)
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4%=0.522283 - 0.030324 = 9.4aja5q
Fivst and \as+ data pts
Vo.s (0. 30415 + [0.532 m|sjs J[o Malasa s)
Vo.p =0.335 M| o
d. VO.S usinq szz \)‘ &k 2a X
AX=0.255 —= last point on distance ~+Hime graph
Vo.s* = [0.304"s)* + 2[0.83% ™l5is Y[ 0.255m)

Vo.s*= 0.539  tookrtne

[Vog=0.335 ’"ls! i

2. How Hav did hanging mass travel between +=0.255 anatpps?

G. OX vsing distance - fime 9reph
becave an eguation js giver, iHdells s xhe velucihy andetis fance

D= AtZrmrac
O=[o.3u¢)0.26]*+ (o.4001)00.25) +[-0.030 127)
00.7_; 20.089m plugginto equation

0.%
0=[o. 3e)0e66]™ + 0.4001766) + f-0.03002]

De = 15-84-m 0.322
OG'D°.7_5= W OOSq: =
0.222
9‘(,- Do,zg = —7




| |
Cﬁllvlﬁ"’ hed)
[ ovelty @ fg2

+ v i Vel,_}."'\é L
g, Dekvg % ﬂ/iewh‘w g8 (g F

vz |+ 0¥ 264 Lo 5. &[W%

.5 40820 playis bive

06 ~f >
l). Ue‘l’ Vi u;.lv J,'[}_,).‘-z brn,d. ” o

86030242 ¢ o024~ 03] DT T

JULHE+ oy bt the
l £ ? { o 4«#[#
abetls)eoper  ply b kg
ﬂmﬁ:‘@)

C. "S::j g Vo= &t ot

vtk o¥%h g, Jﬁh

G270 o aauln e
(B ¥ = 3004, vy 7 0810+ [on 4y
v= 0911 =
viz 4512 Cus= % )
a=.a1 S S s

——

R S P (127
va the ondinl e LL""‘(, 1; feeke *"‘(
E.‘G\' cwa-'\kl,k }a""‘ ';‘,.\J with 4 el v ar f=.qunl,
(I;\z‘) )(\\g z.tlt\((,,‘h‘m L\f J’“‘“b Mo Jarsbie of He
[‘-"" “p ‘VM c.if u? ,}/LL vllv‘f"f‘r. //f") J'{\t l:[m-ae sar Bt
T ale fed Cﬂ»-\ e a--"r&l,\ah- f«"‘\'- ﬂﬂ( {7{~33"’j -
T G e vty o k25




